
�
L=>AE�
�%

�
9��7.��4�&/8065
!���#

���%

�
�%

$"'����4	1.��L�
?;GHA:!��

�
'����4	1.��L�
?;GHA:!��

<KDGM@5FBI---�,��*5$"N��

<KDGM@5FBI---�+�5$"CJM

�N-�)(��32

�N- ����32

No.1



���	��

����������������������

*�! ����

*���"#%$
��

*�(&')+#
��

*���������	�

*�����

No.2



����������������������������


��� 
���

	� 
��� �
�

����	
��

� 

�

� 

�

����	
����

�	����
��

�����

No.3



���������������(k, n)

1

�� ���� ����

� ����

(k, n)

n

1

� ��&
���$

�����!�
�����%�"	�

(k, n)

n

n − k

1

(k, n)

n n − k k

1

(k, n)

n n − k k k − 1

1

�� ������� ���� � �������#��

����!��!%�"	�

(k, n)

n n − k k k − 1

1

��	 
���

��	
� 




�

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)
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(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)
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H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )
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Ŵ1 Ŵ1 Ŵ1 Ŝ

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

f (x) = S + Rx Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

1

f (x) = S + Rx Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

1

R
f (x) = S + Rx Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

1

+��
� +��R
f (x) = S + Rx Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

1

��
�+
f (x) = S + Rx Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

1

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ
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1

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )
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i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

�

x 1 2 3 · · · n
(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

1

S
1

K
H(SK|Ws) ≥ H(S) − ε

Rk ≥ H(S)
P (x) = Q(x) D(P∥Q) ≥ 0

0 ≤ I(X ; Y ) ≤ min{H(X), H(Y )}

H(Y |X) ≤ H(Y )

PX,Y (x, y) = PX(x)PY (y)

D(P∥Q) =
∑

x∈X
P (x) log

P (x)

Q(x)

H(Y |X) = −
∑

x∈X

∑

y∈Y
P (x, y) log P (y|x)

H(X) = H(PX) = −
∑

x∈X
PX(x) log PX(x)

(
−
∑

x∈X
PX(x) log PX(x)

)

I(X ; Y ) = H(Y ) − H(Y |X)

=
∑

x∈X

∑

y∈Y
P (x, y) log

P (x, y)

P (x)P (y)

= H(X) − H(X|Y )

H(X) = H(p) = −p log p − (1 − p) log(1 − p)

1

  

� 

1   

� 

2   

� 

3   

� 

n

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W1 W2 W3 Wn x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

1

W = f (x)

S
1

K
H(SK|Ws) ≥ H(S) − ε

Rk ≥ H(S)
P (x) = Q(x) D(P∥Q) ≥ 0

0 ≤ I(X ; Y ) ≤ min{H(X), H(Y )}

H(Y |X) ≤ H(Y )

PX,Y (x, y) = PX(x)PY (y)

D(P∥Q) =
∑

x∈X
P (x) log

P (x)

Q(x)

H(Y |X) = −
∑

x∈X

∑

y∈Y
P (x, y) log P (y|x)

H(X) = H(PX) = −
∑

x∈X
PX(x) log PX(x)

(
−
∑

x∈X
PX(x) log PX(x)

)

I(X ; Y ) = H(Y ) − H(Y |X)

=
∑

x∈X

∑

y∈Y
P (x, y) log

P (x, y)

P (x)P (y)

= H(X) − H(X|Y )

1
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���������������(k, n)

1


���
�����������	�	�
(k, n)

S, Ri ∈ GF(p)

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

�

(W1,W2,W3, · · · ,Wn) =

(S, R1, R2 · · · , Rk−1)

⎛

⎜⎜⎜⎜⎜⎝

α0
1 α0

2 · · · α0
n

α1
1 α1

2 · · · α1
n

α2
1 α2

2 · · · α2
n

... ... · · · ...
αk−1

1 αk−1
2 · · · αk−1

n

⎞

⎟⎟⎟⎟⎟⎠

α1,α2, · · · ,αn ∈ GF(P )
S, Rj ∈ GF(P ) (0 ≤ S < P ) (0 ≤ R < P )

R
f (x) = S + Rx mod P Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

1

(W1,W2,W3, · · · ,Wn) =

(S, R1, R2 · · · , Rk−1)

⎛

⎜⎜⎜⎜⎜⎝

1 1 · · · 1
α1 α2 · · · αn

α2
1 α2

2 · · · α2
n

... ... · · · ...
αk−1

1 αk−1
2 · · · αk−1

n

⎞

⎟⎟⎟⎟⎟⎠

α1,α2, · · · ,αn ∈ GF(P )
S, Rj ∈ GF(P ) (0 ≤ S < P ) (0 ≤ R < P )

R
f (x) = S + Rx mod P Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

1

= {0, 1, 2, · · · , P − 1}

K0 K1 K10

0⊕ 0 = 0

0⊕ 1 = 1

1⊕ 0 = 1

1⊕ 1 = 0

M ∈ {m1,m2, · · · ,mL} C ∈ {c1, c2, · · · , cL} K ∈ {k1, k2, · · · , kL}

PM(m) PC(c)

M = 0 1 0 1 0 0 1 1 0 · · ·
K = 1 0 0 1 1 0 1 0 0 · · ·
C = 1 1 0 0 1 0 0 1 0 · · ·

1
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����������%$"�	(k, n)

1

��! � ��!�� �������� '%$"�	�������

k × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

���������������������������'����#��
�(k × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(W1,W2,W3, · · · ,Wn) =

(S, R1, R2 · · · , Rk−1)

⎛

⎜⎜⎜⎜⎜⎝

1 1 · · · 1
α1 α2 · · · αn

α2
1 α2

2 · · · α2
n

... ... · · · ...
αk−1

1 αk−1
2 · · · αk−1

n

⎞

⎟⎟⎟⎟⎟⎠

α1,α2, · · · ,αn ∈ GF(P )
S, Rj ∈ GF(P ) (0 ≤ S < P ) (0 ≤ R < P )

R
f (x) = S + Rx mod P Wi = f (i)

W1 W2 W3 Wn S x 1 2 3 · · · n

(2, n) n − 2 2 1

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

1

��
'��&��
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���������������(k, n)

1

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

������
� �����
�����

��	���

(k, n)

n n − k k

1

H(S|Wi1,Wi2, · · · ,Wik) = 0 H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(Wi) ≥ H(Wi|Wi1,Wi2, · · · ,Wik−1)

= H(Wi|Wi1,Wi2, · · · ,Wik−1) − H(Wi|Wi1,Wi2, · · · ,Wik−1, S)

= I(S; Wi|Wi1,Wi2, · · · ,Wik−1)

= H(S|Wi1,Wi2, · · · ,Wik−1) − H(S|Wi,Wi1,Wi2, · · · ,Wik−1)

= H(S)

lim
n→∞

an = a bn =
1

n

n∑

t=1

at lim
n→∞

bn = a

0 = X15 − 1

= M0(X)M1(X)M3(X)M5(X)M7(X)

M1(X) = (X − β1)(X − β2)(X − β4)(X − β8)

= X4 + X + 1

M3(X) = (X − β3)(X − β6)(X − β12)(X − β9)

= X4 + X3 + X2 + X + 1

1

(k, n)

n n − k k k − 1

1

�����
���H(S|Wi1,Wi2, · · · ,Wik) = 0 H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(Wi) ≥ H(Wi|Wi1,Wi2, · · · ,Wik−1)

= H(Wi|Wi1,Wi2, · · · ,Wik−1) − H(Wi|Wi1,Wi2, · · · ,Wik−1, S)

= I(S; Wi|Wi1,Wi2, · · · ,Wik−1)

= H(S|Wi1,Wi2, · · · ,Wik−1) − H(S|Wi,Wi1,Wi2, · · · ,Wik−1)

= H(S)

lim
n→∞

an = a bn =
1

n

n∑

t=1

at lim
n→∞

bn = a

0 = X15 − 1

= M0(X)M1(X)M3(X)M5(X)M7(X)

M1(X) = (X − β1)(X − β2)(X − β4)(X − β8)

= X4 + X + 1

M3(X) = (X − β3)(X − β6)(X − β12)(X − β9)

= X4 + X3 + X2 + X + 1

1

H(S|Wi1,Wi2, · · · ,Wik) = 0 H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(Wi) ≥ H(Wi|Wi1,Wi2, · · · ,Wik−1)

= H(Wi|Wi1,Wi2, · · · ,Wik−1) − H(Wi|Wi1,Wi2, · · · ,Wik−1, S)

= I(S; Wi|Wi1,Wi2, · · · ,Wik−1)

= H(S|Wi1,Wi2, · · · ,Wik−1) − H(S|Wi,Wi1,Wi2, · · · ,Wik−1)

= H(S)

lim
n→∞

an = a bn =
1

n

n∑

t=1

at lim
n→∞

bn = a

0 = X15 − 1

= M0(X)M1(X)M3(X)M5(X)M7(X)

M1(X) = (X − β1)(X − β2)(X − β4)(X − β8)

= X4 + X + 1

M3(X) = (X − β3)(X − β6)(X − β12)(X − β9)

= X4 + X3 + X2 + X + 1

1
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(k, n)

S, Ri ∈ GF(p)

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

�

�����*-)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

��#�#$&$/0.�,+)���������

��
�1
��
�1

f (x) = S1 + S2x + · · · + Slxl−1 + Rlx2 + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

/0.�,+)�
	

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

1

�

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1
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(k, n)

S, Ri ∈ GF(p)

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

�

�����.3-

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1
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f (x) = S1 + S2x + · · · + Slxl−1 + Rlx2 + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1
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H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

1

�

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1

k k − l

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1

k k − l

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1

����
2�


��2
��0

k k − l H(S)

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1
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(k, n)

S, Ri ∈ GF(p)

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

�

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1
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f (x) = S1 + S2x + · · · + Slxl−1 + Rlx2 + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(S, W1,W2, · · · ,Wn) = (S, R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1
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H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

1

1�
��

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1

�

H(Sj1, Sj2, · · · , Sjb|Wi1,Wi2, · · · ,Wik−b
) = H(Sj1, Sj2, · · · , Sjb)

0 ≤ b ≤ l

H(S|Wi1,Wi2, · · · ,Wik−b
) = b

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

1
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(S0, S1)
H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t

) = H(Sj1, Sj2, · · · , Sjt)
H(Wj) = 1

l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

1

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

1

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1
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H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2 rT

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

1
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Ce = (Md)e = Med = Mkφ(n)+1 = M (mod n)

C = Md (mod n) M = Ce (mod n)

M = C2/yr (C1, C2) ZN

k k − l H(S)

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1
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S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1
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h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2 rT

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2 rT

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

1

:<63;58��

������+�������
0���.
�
,2-1��
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

1

����/	��送信可能な情報量
u ≤ h − t
(h, h − t, n)
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

1

送信可能な情報量
u ≤ h − t
(h, h − t, n)
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

1

rt

Ce = (Md)e = Med = Mkφ(n)+1 = M (mod n)

C = Md (mod n) M = Ce (mod n)

M = C2/yr (C1, C2) ZN

k k − l H(S)

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1
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S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1
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h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2 rT

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

S, Ri ∈ GF(p)

1

(h, h − t, n)
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

1

532��

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2 rT

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

(k, n)

1
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t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

Rj

(k + 1) × n

1

����8
��送信可能な情報量
u ≤ h − t
(h, h − t, n)
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

1

送信可能な情報量
u ≤ h − t
(h, h − t, n)
t(t < h)

h = min
r

maxflow(s, r)

S0 S1 S0 + S1

s r1 r2

(S0, S1) S0 S1

H(Sj1, Sj2, · · · , Sjt|Wi1,Wi2, · · · ,Wik−t
) = H(Sj1, Sj2, · · · , Sjt)

H(Wj) = 1
l H(S)

0 ≤ t ≤ l

H(S|Wi1,Wi2, · · · ,Wik−t
) = t

l H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(S0, · · · , Sl−1,W1, · · · ,Wn) = (S0, · · · , Sl−1, Rl, · · · , Rk−1)M

f (x) = S0 + S1x + · · · + Sl−1xl−1 + Rlxl + · · · + Rk−1xk−1

S = (S0, S1, · · · , Sl−1)

(k, l, n)

H(Wj) = H(S)

1

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

0 ≤ b ≤ h − t

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

N
K = H(S)

I(X;Y )

Pe ≤ ε
1
KH(SK|Ws) ≥ H(S) − ε

XN Y N

1

H(Sj1, Sj2, · · · , Sjh−t−b
|Wi1,Wi2, · · · ,Wit+b

) = H(Sj1, Sj2, · · · , Sjh−t−b
)

(0 ≤ b ≤ h − t)

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

N
K = H(S)

I(X;Y )

Pe ≤ ε
1
KH(SK|Ws) ≥ H(S) − ε

XN Y N

1

rt

Ce = (Md)e = Med = Mkφ(n)+1 = M (mod n)

C = Md (mod n) M = Ce (mod n)

M = C2/yr (C1, C2) ZN

k k − l H(S)

(5 × 8 = 40 = 3 × 13 + 1 = 1 (mod 13))

M = 6×5−1 = 6×8 = 48 = 13×3+9 = 9 (mod 13)

Cx
1 = 69 = 10077696 = 5 (mod 13)

C2 = 9 × 55 = 9 × 3125 = 28125 = 6 (mod 13)

M = 9 r = 5 C1 = 25 = 32 = 6 (mod 13)

p = 13 g = 2 x = 9 y = 29 = 512 = 5 (mod 13)

1
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(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1

(k, n)

S, Ri ∈ GF(p)

W1 W2 Wn

f (x) = S + R1x + R2x2 + · · · + Rk−1xk−1

Wi = f (i)

i = 1, 2, · · · , n

(W1,W2, · · · ,Wn) = (S,R1, R2, · · · , Rk−1)M
H(S|Wi1,Wi2, · · · ,Wik−1) = H(S)

H(S|Wi1,Wi2, · · · ,Wik) = 0

(k, n)

n n − k k k − 1

1
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(k, n)

n
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�w1 w2 w���	
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� 

Γ = [{w1,w2,w3}, {w1, w4}, {w2, w4}, {w3,w4}]

������$

    

� 

Γ = [{w1,w2}, {w2 ,w3}, {w1,w3}, {w4}]

CZ

CZ ≡ I(X ; Z)

I(X ; Y ) =
∑

x

∑

y

P (x, y) log
P (x, y)

P (x)P (y)

H(S) ≡
∑

s

−P (s) log P (s)

R < CY

CY ≡ max
X

I(X ; Y )

Ŵ1 Ŵ1 Ŵ1 Ŝ

W1 W2 S R

N
K = H(S)

I(X;Y )

Pe ≤ ε
1
KH(SK|Ws) ≥ H(S) − ε

XN Y N

Pe ≡ Pr{ŜK ≠ SK} ≤ ε
Rs ≥ H(S) Rk ≥ h

Rs = log Ms
K Rk = log Ms

K

Ws ∈ {0, 1, · · · ,Ms − 1} Wk ∈ {0, 1, · · · ,Mk − 1}

3

    

� 

v1 v2     

� 

v3     

� 

v4
���������


    

� 

w1 : (v2, v4 )

    

� 

w2 : (v3, v4 )
    

� 

w3 : (v1, v4 )

    

� 

w4 : (v1, v2 , v3 )
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Γ = [{w1,w2}, {w2 ,w3}, {w1,w3}, {w4}]
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